Sk

g
Tl
>

1. ¥¥4
¥4 AN T AR L) RE S RV it a3 VB A 36055
JBA T REAS LAl # AR AR T

2. EBEAR
1) FHI4 FAIERROBL 5T AR
144 HFE H &f1 74 TH29H

2) JE1THIR
£ o THF12H19H

3) wHwyI
AR IE, IR | C ORI T O M BRI 4 AR T 73 O

2T OHEHTH D,

4) FEHBNA
B TR ISR KO TRELARRE] 0 LkY

E+sZi@E SN



I

BN

Tl
P

==
=]

¥HA | AR T AR )RS I RDBS s i B R A5

2 Tl

WEERA

HH

— A

HE - M - ]

B L

b3
i

& BH

BN

=

— A

4, 378, 326

LA

3,128, 920

KR —1 7

1,997, 000

TER—=V 7 (A—aTrR—V

)

KEPEL « L b, BOmEL T, $AEL T, &

66mm

TER—V 7 (A—NaTrR—1

)

b - WH L, 50mELF, ST T 7, & 66mm

TER=Y 7 (A —nar7R—=Y

)

BHR TV 10p, 50mEL T, $R1EL T 7, ¢ 66

mm

TER=Y 7 (A —nar7R—=Y

)

ERRT Y /5, 50mPL T, $hE T H, ¢

66mm

AR — ) T (A= a T AR—

)

A, 50mLL T, 0B T 7, ¢ 66mm

20 m

10 m

10 m

10 m

10 m

VLT A o RO ERR

820, 400

FRAEE AR

APt - 2L b

FRAEE AR

W Wt
BT ARER

BHELC Y+

FRHE BN AR

20 [=]

10 [=]

10 =]

E+sZi@E SN



==
=]

m
2
gﬁ,

EHA | BT AR L) RS DB b R M A S ¥ HYE A
HH — A
THHE - THE - R BT ¥ & 4 AR ER
10 [A]
FHIRCY 0
REAE AR
10 B
[iCs)
B RAT 2V 1 203,520 | fEATEIA
1 K
Ty AT 2 1 98,000 | R AR
1 K
MoE % 2y 1 10,000 | HEE%
5 i
MR AR 2V 1 1, 249, 406
TR X 1 125,830 | JEMRE
1 X
Sr— 2, 1 465,900 | Efji K WA AF 1
1 X
FAATFLEAZE
1 X
FRAKE (R 7 1ElR)
1 =
(et = 1 569, 100 | B
1 =
TiRE A = 1 66,744 | kA EE (FE L - H0E)
1 =
it A5 PRy = 1 21,832 | Jiti LAEHE
1 =
B AT, + A A v 1 4,378, 326
il = 1 3,151, 674
AR F 1 3,151, 674

-2 - E+sZi@E SN



i
I
T
Tl
P=ai
I

ERs4 | A0 T AR L) RS RSB Rk B A s e B FRA
H H i3y
THH - T - fER] A7 % & 4 % OB AN R
— R = 1 7, 530, 000
fEpT A F2V 1 1,207, 874
(R 2 2y 1 1,207, 874
RN A = 1 1,207,874 | FHEHEH
1 kW
fEpT S A
1 oM
i Sii] = 1 299, 600
BL=ii] = 1 299, 600
e X 1 299, 600 | FTAHE
1 oM
B (ZOtsmER <) X 1 1,507, 474
DOt JFAT = 1 811, 774
— B = 1 1, 240, 752
NS S = 1 3, 560, 000
FRATSES R = 1 11, 090, 000

-3 - E+sZi@E SN



